
BGGET-141 1   P.T.O. 

 BGGET-141  

BACHELOR OF SCIENCE (GENERAL) (CBCS) 

(BSCG) 

Term-End Examination 

June, 2022 
 

BGGET-141 : GEOGRAPHY OF INDIA 

Time : 3 hours Maximum Marks : 100 

Note :  Attempt all questions. Marks are indicated against 

each question. 

 

Attempt all questions in about 500 words each. 510=50 

1. What is drought ? Explain any two types of 

droughts. Discuss major drought-prone zones of 

India. 

OR 

 Give a geographical account on the Coastal 

Plains of India. Describe any two importances of 

coastal plains in India. 

2. What is a multi-purpose river valley project ? 

Give a detailed discussion on Damodar River 

Valley project with reference to its utilities and 

restoration and conservation activities. 

OR 

 Explain land degradation and its types. Suggest 

any five remedial measures for reducing land 

degradation. 
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3. What are Hamleted settlements and Dispersed 

settlements ? Discuss any three patterns of rural 

settlements in India. 

OR 

 State any eight important characteristics of 

Indian agriculture. Explain agriculture land use 

in India. 

4. Discuss the importance and spatial distribution 

of coal and petroleum in India. 

OR 

 What are the different modes of transport ? 

Explain the importance of road networks in 

India. 

5. Discuss the scheme of physiographic 

regionalisation of India devised by R.L. Singh. 

OR 

 What is urbanisation ? Explain the urbanisation 

in India through the perspective of Five-Year 

Plans. 

6. Attempt any five of the following questions in 

about 250 words each. Each question carries  

6 marks. 56=30 

(a) Discuss the Indus River System and list the 

names of its any four tributaries. 

(b) Describe any three characteristics of alluvial 

soil and its distribution in India. 

(c) State the forest cover classification scheme 

given by Forest Survey of India. 
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(d) Describe the classification of energy 

resources. 

(e) Explain any four influencing factors for 

industrial location. 

(f) Explain any three physical factors affecting 

the population distribution in India. 

(g) What are the observations made by 

Sengupta and Galina in economic 

regionalisation of India ? 

7. Answer any five of the following questions. Each 

question carries 4 marks. 54=20 

(a) Write about any eight classes of ‘nine-fold’ 

land use classification of India. 

(b) Discuss ‘Unity in Diversity’ in India. 

(c) Discuss the two types of water resources. 

(d) Describe the distribution and utilization of 

bauxite resources in India. 

(e) State any four programmes of Government 

of India for conservation of forest resources. 

(f) Discuss the external imaginations on  

socio-cultural space of India. 

(g) Write a short note on Vizag-Chennai 

Industrial Corridor of India. 
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 ~r.Or.Or.B©.Q>r.-141  

 {dkmZ ñZmVH$ (gm_mÝ`) (gr.~r.gr.Eg.) 

(~r.Eg.gr.Or.) 

gÌm§V narjm 

OyZ,  2022 

~r.Or.Or.B©.Q>r.-141 : ^maV H$m ^yJmob 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 
ZmoQ> : g^r àíZm| Ho$ CÎma Xr{OE & àË òH$ àíZ Ho$ A§H$ CgHo$ gm_Zo 

B§{JV h¢ &  

 
g^r àíZm| Ho$ CÎma bJ^J 500 eãXm| (àË`oH$) _| Xr{OE & 510=50 

1. gyIm Š`m h¡ ? gyIo Ho$ {H$Ýht Xmo àH$mam| H$s ì`m»`m 
H$s{OE & ^maV Ho$ à_wI gyIm àdU joÌm| na MMm©  
H$s{OE & 

AWdm 
 ^maV Ho$ VQ>r` _¡XmZm| H$m ^m¡Jmo{bH$ {ddaU Xr{OE & ^maV 

_| VQ>r` _¡XmZm| Ho$ {H$Ýht Xmo _hÎdm| H$m dU©Z H$s{OE & 

2. ~hþCÔoer` ZXr KmQ>r n[a`moOZm Š`m h¡ ? Xm_moXa ZXr KmQ>r 
n[a`moOZm Ho$ Cn`mo{JVmAm| Am¡a OrUm}Õma Am¡a g§ajU 
J{V{d{Y`m| Ho$ g§X^© _| {dñV¥V MMm© H$s{OE & 

AWdm 
 ^y{_ jaU Am¡a BgHo$ àH$mam| H$s ì`m»`m H$s{OE & ^y{_ 

jaU H$mo H$_ H$aZo Ho$ {bE {H$Ýht nm±M CnMmamË_H$ Cnm`m| 
H$m gwPmd Xr{OE & 
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3. nëbr ~pñV`m± Am¡a n[a{jßV ~pñV`m± Š`m h¢ ? ^maV _|$$ 
J«m_rU ~pñV`m| Ho$ {H$Ýht VrZ à{Vê$nm| H$s MMm© H$s{OE & 

AWdm 

 ^maVr` H¥${f H$s {H$Ýht AmR> _hÎdnyU© {deofVmAm| H$m 
CëboI H$s{OE & ^maV _| H¥${f ^y{_ Cn`moJ H$s ì`m»`m 
H$s{OE & 

4. ^maV _| H$mo`bm Am¡a noQ´>mo{b`_ Ho$ _hÎd Am¡a ñWm{ZH$ 
{dVaU H$s MMm© H$s{OE & 

AWdm 

 n[adhZ Ho$ {d{^Þ VarHo$ Š`m h¢ ? ^maV _| g‹S>H$ Omb-V§Ì 
Ho$ _hÎd H$s ì`m»`m H$s{OE &  

5. Ama.Eb. qgh Ûmam V¡`ma H$s JB© ^maV Ho$ ^yAmH¥${VH$ 
joÌr`H$aU H$s `moOZm na MMm© H$s{OE & 

AWdm 

 eharH$aU Š`m h¡ ? n§Mdfu` `moOZmAm| Ho$ n[aàoú` _| 
^maV _| eharH$aU H$s ì`m»`m H$s{OE & 

6. {ZåZ{b{IV _| go {H$Ýht nm±M  àíZm| Ho$ CÎma bJ^J  
250 eãXm| (àË`oH$) _| Xr{OE & àË`oH$ àíZ Ho$ 6 A§H$  
h¢ & 56=30 

(H$) qgYw ZXr àUmbr H$s MMm© H$s{OE Am¡a BgH$s {H$Ýht 
Mma ghm`H$ Z{X`m| Ho$ Zm_m| H$s gyMr ~ZmBE &  

(I) ObmoT> {_Å>r H$s {H$Ýht VrZ {deofVmAm| Am¡a ^maV _| 
BgHo$ {dVaU H$m dU©Z H$s{OE & 

(J) ^maVr` dZ gd}jU (FSI) Ûmam Xr JB© dZ AmdaU 
dJuH$aU `moOZm H$m CëboI H$s{OE & 
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(K) D$Om© g§gmYZm| Ho$ dJuH$aU H$m dU©Z H$s{OE & 

(L>) Am¡Úmo{JH$ AdpñW{V H$mo à^m{dV H$aZo dmbo {H$Ýht 
Mma H$maH$m| H$s ì`m»`m H$s{OE & 

(M) ^maV _| OZg§»`m {dVaU H$mo à^m{dV H$aZo dmbo 
{H$Ýht VrZ ^m¡{VH$ H$maH$m| H$s ì`m»`m H$s{OE & 

(N>) ^maV Ho$ Am{W©H$ joÌr`H$aU _| goZJwßVm Am¡a J¡{bZm 
Ûmam {H$E JE AdbmoH$Z Š`m h¢ ? 

7. {ZåZ{b{IV _| go {H$Ýht nm±M  àíZm| Ho$ CÎma Xr{OE & 
àË`oH$ àíZ Ho$ 4 A§H$ h¢ & 54=20 

(H$) ^maV Ho$ ‘Zm¡-JwUm (nine-fold)’ ŷ{_ Cn`moJ dJuH$aU 
Ho$ {H$Ýht AmR> dJm] Ho$ ~mao _| {b{IE &  

(I) ^maV _| ‘AZoH$Vm _| EH$Vm’ na MMm© H$s{OE & 

(J) Xmo àH$ma Ho$ Ob g§gmYZm| H$s MMm© H$s{OE & 

(K) ^maV _| ~m°ŠgmBQ> g§gmYZm| Ho$ {dVaU Am¡a Cn`moJ 
H$m dU©Z H$s{OE &  

(L>) dZ g§gmYZm| Ho$ g§ajU Ho$ {bE ^maV gaH$ma Ho$ 
{H$Ýht Mma H$m`©H«$_m| H$m CëboI H$s{OE & 

(M) ^maV Ho$ gm_m{OH$-gm§ñH¥${VH$ ñWmZ na {dXoer 
H$ënZmAm| na MMm© H$s{OE &  

(N>) ^maV Ho$ {dµOmJ-MoÞB© Am¡Úmo{JH$ J{b`mao na EH$ 
g§{jßV {Q>ßnUr {b{IE & 


